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kA || _4H168 | 58218 | 64134 | 7H4R | 8FA1H | 9/5H | 104150 | 114210 | 12824 | 14144 | 2/278 | 3H10H BEWA | L
IH TRk 5 212 830 1372 1757 2219 3150 4097 5102 5325 6058 6948 7169

1| — A {8 /mL, 0 0 0 0 0 0 0 0 0 0 0 0 100 =

2| R = fatt [tk =3 [tk £33 (£33 Fatk fatk =33 faik £33 Btk Rtk -

3| HRIV LR UZDLEY mg/L — 0.0003 A1 . == — | 0.0003 A | =] 0.0003 A | —— = 1.0.0003 A | = — 0.003 0.0003

4 KK OZDLEY) mg/L, — 0.00005 A4 ... — ] 0.00005 A [ —— = 10.00005 K| —— =] 0.00005A | —— 0.0005 0.00005

5| L R OZDEY mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.001 Al o 0.01 0.001

6|8h R D2 DI E mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.001 Al o 0.01 0.001

7|ER K OZDLEW) mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.001 Al o 0.01 0.001

8| Aflizn b mg/L — 0.002A7 o - 0.002:A1 o o 0.002.A o o 0.002Aif o 0.02 0,002

9| i fig iR P 2 5 mg/L — 0.004A7 o - 0.004A1 o o 0.004A o o 0.004 A o 0.04 0,004
10| > 7 ALMAA L R OUEILS T | mg/L _— 0.001 A1 oo o 0.001 AT o o 0.001 A1 oo oo 0.001 AT o 0.01 0.001
11| FHRRRESE R R OV RREZE R | mg/L 0.7 0.2 0.1 0.6 0.3 0.3 0.8 1.4 1.2 0.6 0.4 0.4 10 0.1
12|79y FE R OZOILEY mg/L — 0.08 it o - 0.08 A7 o o 0.08ATi5 oo oo 0.08 A1 o 0.8 0.08
13| AU OZDLEY) mg/L, — 0.02 o o 0.03 o o 0.03 oo o 0.03 o 1.0 0.02
14| UL R 38 mg/L _— 0.00024K1) ... == o .0.0002 4 [ - e 0:00024 o 10.0002 40| S 0.002 0.0002
15| L - A=t me/L. — 0.0054K4 ... == — ... ].0.005 4k | —— == ].0.005 4k | —— —=...1.0.005 k| —— 0.05 0.005
16 ‘1/2:}/'?7;:1;3?”/&0"7’1’ gL —— | ooouki | —— —— | oooi| —— —— | ooz | —— —— | oooi| —— 0.04 ey
17| rmm A, mg/L _— 0.001 A7 o o 0.001 A1 o oo 0.001 A1 o oo 0.001 AT o 0.02 0.001
18|77 /anxFL mg/L — 0.001 A oo et 0.00 1A oo o 0.001 A o o 0.001 Al oo 0.01 0.001
19N 7oL mg/L — 0.001 A oo et 0.00 1A oo o 0.001 A o o 0.001 Al oo 0.01 0.001
20|~ mg/L _— 0.001 A7 o o 0.001 A1 o oo 0.001 A1 o oo 0.001 AT o 0.01 0.001
21 | HE SR mg/L, — 0.06 p— o 0.13 - o 0.18 o o 0.07 o 0.6 0.06,
22 |7 oL mg/L, — 0.002A: 1 oo o 0.002A4:7 oo o 0.002A: i oo o 0.002A:1i5 o 0.02 0.002
23| 70u7R/L A mg/L, _— 0,002 — = — = 0.006 —= —= 0,008 = = 0,003 = 0,06 0.001
24| V7 o mg/L — 0.003 A — o 0.005 - o 0.007 R o 0.003 A1 oo 0.03 0,003
2B|YTRETARAS me/L h— 0.021 —= —— 0.029 —— —= 0026 —= —= 0.018 —= 0.1 0.001
26| SRk mg/L — 0.001 A oo = 0.001 A oo - 0.001 A —= —= 0.00 1Al o 0.01 0.001
27 [k A% mg/L, — 0,046 - —— 0.068 —= —= 0,062 —= —= 0,039 —= 0.1 0.001
28| M7 i mg/L — 0.003 A oo = 0.003Ai oo - 0.006 —= —= 0.003A7ii o 0.03 0.003
29|7RE TR mg/L. o 0.008 —= —= 0.017 —= —= 0019 —= —= 0,011 —= 0.03 0.001
30| 7 e Ll mg/L, — 0,015 o - 0.016 o o 0.009 o o 0.007 o 0.09 0.001
31V LT LT ER mg/L. — 0,008 | == o 0,008 | ... == =) .0.008 4 o o 0.00845 | == 0.08 0.008
32| Hfifh M O DLEY) mg/L, — 0.005 A4 oo - 0.005A: 15 oo o 0.005A41 —— —— 0.005 A7 o 1.0 0,005
33| T NI=0 LK OZDILEW) mg/L — 0,021t oo = 0,024 oo - 0.02A475 —= —= 0,027 o 0.2 0.02
3B OZ DS mg/L, 0.08 006 0.04 003 0,04 0.03 0.03 0.04 0.05 0.07 0.06 0.06 0.3 003
35|81 e O DL AW mg/L — 0.01 A1 oo = 0.01 A1 oo - 0.0 LA —= —= 0,01 A7 o 1.0 0.01
36| TN LR EDILEY mg/L. — 32.8 oo o 28.6 oo oo 27.5 oo oo 25.4 oo 200 0.1
31|~ B OZ DAY mg/L 00054 | 0.0057%1%.] 0005734 10,0057 |.0.005 418 | 00054 |.0.0057418. | 0,005 4. | 000541 | 000571 | 0.005741%.| 0,005 0.05 0.005
38 A4 mg/L 55.2 57.9 56.5 51.3 51.7 52.3 45.9 49.0 51.6 50.4 49.7 48.5 200 0.2
39|y b, <) Ay WE L) mg/L, — 34 oo o 30 oo oo 32 oo oo 33 oo 300 1
40| I T mg/L, — 151 oo o 174 oo oo 144 oo oo 152 oo 500 1
41 [fa A il mg/L. 002 | et LU 25,3 e Q02T L e Q2 ... 82 902
12|V A mg/L — 0.000001 48| . == —— ..|0.000001 45| —— =] 0.000001 ] —— ——...1o.000001 4] —— 0.00001]...0.000001
43| 2-AF LAYV — )b mg/L, —— 0.00000 1 A — - 0.000001 A3, f— o 0.000001 4] — o 0,00000 1A o 0.00001| ..0.000001
44 | AT EE A mg/L — 0.005A47 - - 0.005A41 - - 0.005A4 - - 0.005A7i - 0.02 0.005
45(7 = ) —/If me/L, i 0.0005A4H) .. —— ——...10.00054K0] . == == 10.0005K] . —— — ... 10.000540H] . —= 0005 00005
46 | T H) (BATHEIRFE(TOC)D ) | me/1. 0.6 0.6 0.8 1.0 0.7 1.1 1.8 1.2 1.3 L1 1.6 L3 3 0.3
47| pHfE = 6.9 7.1 7.3 7.1 7.2 7.5 7.5 7.3 7.1 7.0 6.8 6.9 5.8~-8.6 =
48|k - BERL | Bl | Wesel | Bgeel | Bagzel | Bagsel | Bgsel | Bl | Sl | el | Sl | el AERL =
49| 75 - BERL | Bl | Weel | Bgeel | Bggzel | Bggsel | Bl | Bl | Sagsel | sl | sl | el AERL =
50| i 13 1.0 0.7 0.6 0.7 0.6 1.0 0.7 0.9 L1 0.9 1.0 5 0.5
51| i3 0. 1A 0.1 . 0.0 | 0. 1A | O.1A&M | 01A&MN [ 01AWM [ 014N | 0140 | 0.14mM | 014K | 014K 2 0.1
52 | FREEHI R mg/L 0.5 0.4 0.4 0.5 0.3 0.3 0.2 0.6 0.8 0.4 0.3 0.2 = =
53 KL C 18.4 22.8 23.8 26.0 31.2 30.0 25.0 18.3 14.7 9.4 10.0 11.6 = =




